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2075 Your Roll No. 

LL.B. I I Term D 

Paper IV CRIMINAL LAW- I (OC) 

Time: 3 Hours Maximum Marks : 100 

(Write your Roll No. on the top immediately 

on receipt of this question paper.) 

Note :- Answers may be written either in English or in Hindi; 

but the same medium should be used throughout the 

paper. 

~:- ~ >rR-~ cnr "JrR" afir.it <Tr ~ M ~ ~ 
~· ~ ~ ~ 3rlit. CfiT 7flt<i7f ~ Eft if.lr ~ I 

Attempt five questions and at 

least one question from Part II. 

All questions carry equal marks. 

fcl:i;:tff ~ ffl' ci "JrR" ~ I 

~ II "# Cfi7f "# Cfi7f f!C1f >rR ~ I 

~ ffl' ci Jicn WIFf .g· I 

1. Attempt briefly any four of the following : 

(a) Distinguish between intention and motive. 

P.T.O. 
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(b) Explain the maxim ignorantia facti excusat, 

ignorantia juris non excusat. 

(c) Relevance and justification of plea bargaining in 

criminal trials. 

(d) State the basic features of fair trial. 

(e) Rights of an arrested person. 

((cf) II ~J;{Rfil~l tAAlc qffflCfi!Jic, ~J;{Rffli~l ~ ~ qffflCfll)c" 

~cfit~~l 

(<r) ~ -malUTt' ~ "~ <Sli<~Pl41" cfit ~~i41ddl 3fu: 

3i1RI~k11 I 

2. "The nature of mens rea that will be implied in a 

statute creating an offence depends upon the object 

of the Act and provisions thereof." Discuss with the 

help of decided cases. 
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/(~ cfit ~ fcfim 3l1mtl en) ~ Cl'l'"ffi ~ ~ ~ 

itiit, "3tf ~ cfi ~ afu: mcruRT 1R ~ cfitiiT I " 

f.'rufur ~ cfit ~ ~ ~ ~ I 

3. A's car hit B's scooter while taking a turn negligently. 

An argument ensued between A and B. A slapped B. 

B left the place immediately and came back after 10 

minutes along with his 10 friends and hit A with lathis 

and hockey sticks. A died on the spot. B pleaded 

'right of private defence'. Will he succeed in availing 

this defence? Give your answer citing relevant legal 

provisions and case law. 

31, ~;W ~ CfiR ~~ ~ ~ ~ m ~ it ~ Gr cfi 

~ en) ~ ";{R ~ I I 31' afu: 'Gr' ~ ~ ~ I 31 ~ Gf 

cnT ~ ";fR ft'IT I Gf ~ crnT ~ ~ 7lliT afu: 10 FRc GIN 
0 "' 

3l1H 10 m: cfi ~ qpffi afu: BR5t afu: "00 cfit ~ ~ 

man" <tt ~ "ffirr t 1 q:m qg <ffi ~ -AA ~ ~ 

Wrr I ~ mcruRT afu: ~ fctlU cfit ~ ~ ~ ~ 

~I 

4. (a) 'A' dreamt that if he sacrifices his 5 year old son 

then all his problems will end forever and he will 

become a rich man. The next morning he took his 

P.T.O. 
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son to a jungle and sacrificed him by slitting his 

throat. He then performed a victory dance and 

afterwards went to his brother's house. Calling 

his brother aside he told him what he has done. 

Insanity was pleaded as a defence. Decide, citing 

relevant grounds for your decision. 

(b) 'D' got drunk at a party thrown by his friends. As 

he was unable to drive he decided to go home by 

bus. He boarded a bus and asked a passenger to 

shift and make a seat for him. As the fellow 

passenger refused to budge, 'D' whipped out his 

pistol and fired a shot at him. He died immediately. 

'D' pleaded drunkenness as a defence. Will he 

succeed ? Substantiate your answer. 

(Cfi) 31~~t~~ CJ6 311H~ Cftll ~ ~ CfiT~ 

~~m"3'Wtt~~~~~m-~ ~ 

CJ6~ tAt~~~~~~ 311H~Cfil 

~ ~ 'R ~ t ~ "3WfiT 'lfBT ~ "3'Wtt ~ ~ ~ 
t I ~ CJ6 ~ ~ Cfm'!T t ~ d~l!'illd 3i1H ~ 

~ W 'tfffi ~ t I 3i1H ~ coT ~ W1fi' ~ Cf6 

3i1H ~ coT ~ t fcfi ~ cp:rr 'fcfi<:rr I 3041 'tid I CfiT 

~~gm~~tl 311H~cfi~~ 

anum CfiT ~ ~ 1 
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(~) am~ 100 ca ~ 11!V ~ 'D' <rcr m ~ t I {fch 

Cf5 m Cfi50f ~ ~ ~ 21r aN: ~ 100 w "TliT 1 

<f5~~~t aitt~<mlt~~tfcfi<f5~ 

~ me 1R ~ ~ aitt -m-~ Cf5 me ~ q){ t 1 

w<mlt~~~~+RJq){~"ffi" D~ar:Rl~ 

~ aitt ~ 1R lTrffi ~ ca I Cf5 ~ ~ "TliT I 'D' 

~ CflT ~ ~ t 1 <FIT Cf5 ~ W1l ? am "3"W 

cfit~~l 

5. A group of 10 people assaulted 'P' who was a 

diamond merchant. Two people stabbed him with 

knife, one person hit him with a lathi and two ran 

away with the diamonds. 'P' died in the hospital. 

Eight people were arrested, chargesheeted and 

prosecuted for the offence of murder U/S 302/149 

IPC. Four out of eight were acquitted by the trial 

court, giving them benefit of doubt and remaining four 

were convicted U/S 302/149 IPC. They appealed to 

the High Court and challenged their conviction, U/S 

149 IPC. Decide with the help of decided cases. 

P lffi fcfi ~ tffi ~ 21T cnT 10 ~ ~ WfiR ~I it 

~ ~~ ~ 'T:ITCFi ~~I~~~~~~ +rrU I 
"' 

aitt it ~ tft ~ ~ lW 1 a ~ fm:tRrrc~ ~ 1 ~ 

mr "TliT aitt ~ ~ ~ ctt um 302/149 ~ ~ 

P.T.O. 
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~ Ni<:rr 1l<IT I WalUT "'411011('1101 am 4 ~ cit m CfiT 

~ ~ ~ ~ Cfi<: ffl<:rr 1l<IT 1 ~ "W ~ cit m o 

"Go ~ o ctT t1RT 30 9 /14 9 cfi" ~ ~ C:fl(R ffl<:rr 1l<IT I ~ 

~ "'llllll (1101 ~ allfu;:r Gl<R Cfi<: ;wRt JlqRJ~ cit ~ ~ I 

f.'roffif crrciT ctt ~ "ij- RuF:1 ~ I 

6. 'A' with an intention to kill 'B' loads his gun and 

fixes a meeting with 'B' in a park. Is 'A' guilty of 

criminal attempt in the following situations :-

(a) When 'B' arrives 'A' aims a shot at 'B', but the 

trigger gets jammed. 

(b) Mistaking a tree to 'B' 'A' fires at it. 

(c) 'B' doesn't turn up for the meeting and 'A' sets 

out on his bike in search of 'B' with his loaded 

gun in his pocket. 

~ ~ ~ ~ ~ ~ qm:rr t 1 ~ 'ar' H+OiRlRctd 

~ ~ awrofUcl:i ~ CfiT ~ t: 

(or) ~ ~ cfi" ~ ;niT amrr ~ ar ;wRt ~ 1R ~ ~ 

;wRt ~~ mt ~ ~~ m~ %IT t1 
~ CO\• • 
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PART II ('mlf II) 

7. (a) 'A' made a complaint against her husband 'B' to 

the police U/S 494 IPC, 498 IPC a non-cognisable 

and cognisable offence respectively. The police 

investigated and chargesheeted the same and the 

Magistrate framed the charges accordingly. 'B' 

approached the High Court for quashing of the 

proceedings and charges against him. Will he 

succeed ? Substantiate your answer with relevant 

judicial decisions. 

(b) Police control room received a telephonic message 

reporting commission of murder and request for 

coming immediately to the scene of crime. A police 

officer with two constables rushed to the place 

where they recorded detailed statement of the 

complainant about the crime. This statement was 

signed by the complainant and was treated as an 

F .I.R. Can this statement be relied as an F .I.R. ? 

Answer citing the relevant legal provisions. 

(<fi) 'ar' allR %l'-ar' cfi ~ 'lro qo ~0 ctT um 494 3fu: 

498 ~= ~ 3fu: m- 3lllmiT cfi ~ ~ ~ 
ffliCflllld ~ ~ t I ~ ~ ~ ctl 3fu: ~ Cfi{ ~ 

~ 

3fu: ~8if(c ~ ~ ~ aWr:r Oll" ~ 1 '-ar' "3"f 

;::(Ojllll~ll ctT muT ~ t fcfi ~ ~ Cfll4clltrl 3fu: 
~ q;) ~ ~ ~ I "Cf!1T Cf6 ~ WIT ? f.:tulfu 

~ ctl ~ ~ allR "3"W ctl ~ ~ I 
P.T.O. 
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("\<f) ~ Pl4~or cnar CfiT ~ ~ ~ CfiT ~ 2Jiil'1 am 

~ ~ iRrr t afu: ~ ctT ~ t fcfl ~ ~ ~ 

~ anit 1 ~~~it Rlqrrnq)'~~~~ 

~ ~ t; lil'fiT qg- ffl1Cfll4d q;-ffi ~ ;w:mu ~ ~ 

fcRm1 ~ -.nc ~ ~ 1 ?:16 ~ fflrCfll4a Cfl"ffi am 
('. 

~ M \jffffi" t afu: ~ ~ ft'4Tt ~ \jffffi" t I 
"' 

qrrr ~ ~~ ~ ~ ~ ctT ~ mcmr f<t<rr 
"' 

"ij{f ~ t ? ~ fcl"fucn mcruRY CfiT ~ ~ ~ 

"3W~I 

8. When can bail be taken in case of non-bailable 

offences? On what grounds can court cancel the bail 

already granted to an accused if subsequently an 

application for cancellation of bail is filed before the 

court ? Discuss with the help of the relevant legal 

provisions and decided cases. 

~ ~ ~ CfiGf ~ ~ "ij{f ~ t ? ~ d~!Ji!ld 

~141<'~4 ~~~~~~ ~~~~f<t<rr 

\jffffi" t, -m fcl:iof 3m.lTit' ~ ~141<'14 ~ "ij{f ~ ~ CfiT ~ 

~~t? 

(600) 

~I 
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